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STRAIGHT LINE GRAPHS

THE STRAIGHT LINE EQUATION

Ref: G291.3 F 1

Al State the gradient and the y-axis
intercept of

y=3x+7

A2 State the gradient and the y-axis
intercept of

y=Tx-3

A3

State the gradient and the y-axis
intercept of

y=3-Tx

A4 State the gradient and the y-axis

intercept of

y=-T+3x

B1 State the gradient and the y-axis
intercept of

2
=—x+7
Y73

B2 State the gradient and the y-axis
intercept of

3
=—+4+2x
YTy

B3

State the gradient and the y-axis
intercept of

2
=3-—x
Y=o

B4 State the gradient and the y-axis

intercept of

1.2
Y 3

C1 Work out the gradient and the
y-axis intercept of

2y=4x+10

C2 Work out the gradient and the
y-axis intercept of

3y=9-06x

C3

Work out the gradient and the
y-axis intercept of

3y=2x+1

C4 Work out the gradient and the

y-axis intercept of

4y=2x-9

D1 Work out the gradient and the
y-axis intercept of

y+8=4x

D2 Work out the gradient and the
y-axis intercept of

y+3x=6

D3

Work out the gradient and the
y-axis intercept of

2x+y—-3=0

D4 Work out the gradient and the

y-axis intercept of

S5x=3+y
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THE STRAIGHT LINE EQUATION

L y=mmx+c

Ref: (‘i2‘)l.3 F 1

Al State the gradient and the y-axis
intercept of

y=3x+7

A2 State the gradient and the y-axis
intercept of

y=Tx-3
m=7
c=-3

A3 State the gradient and the y-axis
intercept of

y=3-Tx
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A4 State the gradient and the y-axis
intercept of

y=-7+3x
U=23x-7 m=3

4
J

B1 State the gradient and the y-axis
intercept of

5 2
Y 3x
7

B2 State the gradient and the y-axis
intercept of

3
4 m=2
y=2x+075 =075

4 =
J

B3 State the gradient and the y-axis
intercept of

3 2
FEmE m=-04
y=-0Hx +3 c=3

4
J

B4 State the gradient and the y-axis
intercept of

C1 Work out the gradient and the
y-axis intercept of

2y=4x+10
X +5 m=2
c=5
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Y=
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C2 Work out the gradient and the
y-axis intercept of

C3 Work out the gradient and the
y-axis intercept of

m

Il
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3y=2x+1
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J
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C4 Work out the gradient and the
y-axis intercept of

4y=2x-9

] = 0BX - 29K
4 — U.JA yAavae
I

m=05
c=-225

D1 Work out the gradient and the
y-axis intercept of

D2 Work out the gradient and the
y-axis intercept of

y+3x=6

4
J

D3 Work out the gradient and the
y-axis intercept of

2x+y-=3=0

D4 Work out the gradient and the
y-axis intercept of

Sx=3+y

] = Y - 5
J — UA
J

c=-3

© 2019 Maths4Everyone.com

Worksheets, Videos, Online Assessments and Exam Solutions




